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YurukyaraMain23 R (27 4 V& : YurukyaraMain. java)

1| class YurukyaraMain {

2 public static void main(String[] args) {

3 System.out.printIn(”4 ®i:Ta—2");
4 System. out.println(”gﬁ%%}vz 19954E”) ;

5 System. out. prlntln(”&%ﬂﬁ TAY R
6 System. out. prmtln(”H%E ¥.025%v3"):;
7
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TyoboKakakuMain2S2R (2 7 41 IL 8 : TyoboKakakuMain. java)

class TyoboKakakuMain {
//main A w R
public static void main(String[] args) {
[/EBDES B L OHIHA{L

int konyu = 200000; //FE ARG CREEO)

int zanzon = 20000; /AT (R

int nensu = 4; / /s AR (CREE0)

| (3) ; /WA WABEEIEE (B%0)
//E AL

int tyobol = konyu - syokyaku; [/ 1L D IREAAE

int tyobo2 =| (4) |5 // 2 SO

int tyobo3 = tyobo2 - syokyaku; // 3 4B DR EAT#%

int tyobo4 = tyobo3 - syokyaku; // 4 BB DR EAT#%

/ /7 AL

System. out. printf(” 1 444 : %, 7d[I¥n”, tyobol);
System. out.printf(” 2 44 : %, 7dFMH¥n”, tyobo2);
System. out. printf(” 3 444 : %, 7d[H¥n”, tyobod);
System. out. printf( | (5) | , tyobo4);
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